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LETHME TR (20% ) |
VD =lnx
b " +4y =sinx, y(0)=1, 1'(0)=0

: 25 R HTHE AR A (diagonalizes ) % iF. % ft (orthogonal) &M R «

(20% )
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e=x +4y ,z 8 ﬁ%zﬁ.ﬂﬁi‘?}‘ﬁ (20%) |

42

L -
4-&4@ c.fc 2 ldmﬁ ;e‘;aim}zu;%
_ -+

(a’)fz ~1|= l(b)lz — zl = 1(c)[z +i=1 (d)]z| 5 (2% )

8
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L BC 'é‘ X = 0 RO u=0

LCot=0, w=f(x) o
- (20% )
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1. Solve the differential equation y + 4y =3IN X
by two kinds of methods and one of the two must

be the laplace transform.

2.(a) Find the eigenvalues and the eigenvectors of

A=l0 1 1
0 1 1

(b)FInd the orthogonal similar transform matrix
to make A an diagonal matrix.

3. When F = xyi + yzj + xzk
Find [[F -fAdA ="
S the surface of the cube 0=x=<1, 0=y=<1, 0=z=<1 °

4. Solve the partial equation
ou ou_
Xy o

=0, let v=Xx ; z=X+Yy o
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1. Solve the differential equation by two kinds of methods and one of the two must be
\

the laplace transforn. V — 6V’ +oy=29cos2t, y(0)=3.2, y (O)‘: 62 (25%)
: : ' |

- 2.Find the eigenvalues and the eigenvectors of A= [m 1 3} (15%)

3.Evaluate the integral from A:(0,1,2) to B:(1,-1,7) - (10%) . ' |

B
I = I (3x2dx+2yzdy+ y’dz)
o |

LwB(—=) > R13n E30NH9RT —MERLBIELE - 5—=3 EAMIRE > BTH

AR B 60 R B .=0.3 > FAEAR T B BA dAE AT 7 (25 4)

N

5. T EAR R B3+ 4o (=)Ao LHT R4 - RAEZRKREBEAHAR - (25 2)
2Ty
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e ob T
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| y + 3y"+ 3y + y =30 e ",y(0 )= 3,
Loy'(0 )= =3,y"(0 )= -4 _
Solve the differential equation by two kinds of methods and one of the two must be the Laplace
transform. (25%)

2.Find theinverseofA=| 3 —1 1| ¢ow)

ot B ' .
. xz ¥z ' .
3. 1 = J (ze “dx +dy + xe"d7) g ouate the integral from 4:(2,3,0) to B:(0,1,2) « (15%)

4 — NFENHERER Z AL JIB60N - EFJIAEAIE(—)ERRA » sARFII#Ex > v zémiié}ﬁ ° (2543)
5. ME(FTR - SRERAEATER, FEORESM=600N - mZ J7%H » DB J5hiE - HRBITE
Z I1&M ? (2543

I (—) -
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